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Laws of Indices - Video 174

1. Simplify w™#xw’

................................................

WS
2. Simplify —
s

3. Simplify (w*~

................................................

Simultaneous Equations - Video 295

4. Solve the simultaneous equations 9 - y /!
§x+4y=26 w1 s 4+J 6 +20> 18 «
SR b
4 x @) i
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6.

Solve the simultaneous equations

3x+2y=16 —
2x-3y=2 -—g Ile]~/o/ "
. Tg8 B-4=1
u() WHy S
i) ﬁ__:_z/L
131 :

> 4

Three bananas and two pears cost 95p.
Five bananas and three pears cost £1.51

Find the cost of ten bananas and ten pears.

o +-z/=7§"

51 +3/ A
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Changing the Subject - Videos 7, 8

7. Make w the subject of the formula 4(g +w)=9w -3
lv ol ~qus3
-

v ~ 4w
QJ = ;«u = }
T
Lf(? }-3 -3 A
P 93
‘ﬁw W= g— .......................
g B
- 1
8. Make v the subject of s =—(u+ v)t
X1 2 Y i
15 (utv )t
13 = w‘f *’\f-t
78— ut = vt
: 2
23 il
VE ) =
nth term (non linear) - Video 289
; 9 11 13
9. Find the nth term of ¢ 50 Bp
q n 13 1o L0 30
¢ W
- v (/ é (on 10 =
¢ r 2
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Graphical Inequalities - Video 182

10. Onthe grid, clearly indicate the region that satisfies all these

inequalities.
x23 y21 X+Yy%9
0+to §§ v
Y A
7
6 Vi
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Reciprocal Graphs - Video 346

3
11.  Complete the table of values for ¥=—

SR S e

12.  Onthe grid, draw the graph of y= }5'; for 05¢x<10

Y

A

10 |-+

O = N W Hh Or o N 0 VW
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Cubic 6raphs - Video 344

13. Complete the table of values for y=x*-2x+3

o
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Quadratic 6raphs - Video 267¢, 267d

15. Draw the graphs of y = x?> — 3x and y = x
. S N T

wy o u e —tto b
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Sketching Quadratics - Video 265

O" -0 - ' L == ,g‘
17. Sketch the graph of y = x? — x — 12 below.
Clearly show where the graph meets the x-axis and y-axis.

(1-u)@+3) <o

1:4 or X3-D

(- 'bJOJ) (0’012

X

lo,-17)

Reflections - Video 272

18.

Reflect shape A in the liney = x

-6 5 4 -3 -2 —1,0 1 2 3 4 5 6x

W,
4
y Y
-
w3
-6



SR F
19. Triangle H is translated by the vector (1 )

Combined Transformations - Videos 275, 325

M
o

and the image is then rotated 90° anticlockwise about (-2, -2)

Draw the final image and label it A.

Y
6-

5
4-

. Slmr— - 2 ]

Page 11



Enlargements - Videos 104, 104a

20.

—6~5—4-3—5\10173456}

\x i
N

N _\/ /

Y & |

. 1 -3

A N

_5 1 i

1

Enlarge by scale factor 3 using
(0, 1) as the centre of enlargement

Similar Shapes - Videos 292, 293

21. Shown below are two mathematically similar parallelograms.

*4
Area: 45cm q =4
Areaq: 5cm / /
Find x A% = ‘
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Circles (in terms of pi) - Video 63a

22. Find the volume of the cylinder.
Give your answer in terms of n

20cm
e N :
ﬂ/ e ?1 £ 1 U
7 » U4 x10
3
(40T (m
Pythagoras (exact) - Video 261a
23. Work out the size of x.
Werite your answer in surd form.
A x C
9m
a % t ’0 - C‘L
TI5RT 4 2m
q ’ b
X| - U - 1
& = 7(,1
. 2
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Product Rule for Counting - Video 383
At Corbett's Cafe there are
7 starters
16 main dishes

11 desserts

A meal voucher allows a customer to pick one starter, one main dish and
one dessert for £10

24. How many different ways are there to choose a meal?

7 x 16 x )

................................................

Three of the starters and four of the main dishes contain fish.
A different customer uses their meal voucher but they do not like fish.

25. How many different meal combinations can they choose?

F- 4
=% =%

G xlv x| 528

Independent Events - Video 249

26. Jackson and Kelvin each sit a test.

The probability that Jackson passes is 0.8
The probability that Kelvin passes is 0.6

Find the probability that both of them pass.

0-% x 0-4
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Tree Diagrams - Video 252

Siobhan has 10 socks in a drawer.
6 socks are black and 4 socks are white.
She picks a sock at random, puts it back and then takes out a second at random.

27. Complete the tree diagram.

| by 3
First sock Second sock Pu . e e
% Black 10 ' /0 fe

Black

White

................................................

o o0-1¢
29. Work out the probability that the two socks are the same colour.
b 1 T 3
S } E i < #
|oe 100 [ 0o .
|00 a 05t
30. Work out the probability that the two socks are different colours.
74 1l . bg 1T
g F a2 © i w4 T
100 joe /
2% n 0- 4



Negative Indices - Video 175

31. Workout 572

{
e
l
<’
32. Workout 1073 '
v
10
2
joo 6
Standard Form - Videos 300, 301, 302, 303
33. Write 700000 in standard form
g
............ Fx10
34. Worite 28000 in standard form
y
L-F5 #
35. Wprite 0.094 in standard form
-Z
9-4 x |0
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36.

37.

38.

39.

Write 1.7 X 10* as an ordinary number

Write 9.2 X 1073 as an ordinary number.

Write 450 X 10° in standard form.

Work out (3.8 x 10%) + (1.9 x 10°)

190000 ©
3{00067

42180000
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40. Work out (6 X 10%) x (4 x 10°)
Give your answer in standard form.

U ><\o(z

1-4 %10

41. Work out (4x 10%) +(5x 1072)
Give your answer in standard form.

0-9 » \0“

Direct Proportion - Video 254

H is directly proportional to the cube of c.

When H= 40,c= 2.

42. Express Hin terms of c.

dit &”
H:[£C3
A 4o :16‘23
Yo 2/6"‘2
k=5

43. Find the value of Hwhenc=5

i = (;cs'j
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